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: INSTRUCTIONS :

All qu&stioné in the Test are multiple choice questions.

Each_question carries ane mark, with four alternatives out of which one answer is
correct.

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number conespondmg to
the question while answering on the OMR Response Sheet.

Marking more than one response shall be treated as wrong respanse.

Mark your response by completely darkening the relevant oval The Mark should be
dark and the oval should be completely filled.

Use of calculator, Mobile is strictly prohibited and use of these shall lead to
disqualification. :

The candidate MUST remove the last Carbon copy '(Candidate’s copy) .of OMR after
completion of Test.

The thon paper will be both in English & Punjabi. In case of any doubt, Englzsh
version will be taken as final. _
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2.

S.

Interaction of goods and assets markets jointly determine | a0t

(a) Interest rate and income (b) Interest rate and employment raw_
(c) Interest rate and investment (d) Investment and consumption '
TR w3 AuSt BT O UaRue yge faaures aaer 9 -
(a) femm eI R nmes ®) &wneanéﬁaﬂmw‘rérea
(c) form vam3 foon (d) fo2m mi3 Qusa

If the actual unemployment rate is below the natural rate of unemployment, l—t would lead
to ,

(a) Phillips curve would shift to the leﬁ

(b) Rate of inflation would increase

(¢c) Natural rate of unemployment would fall

(d) ‘Wages would fall

o9 Agvarat & IR3fed ©e Sgwardt € getfed w9 3 ule 3, feR &%

(2) fefou zoa 98 uh B ufgeass e

- (b) HEIHSIZ T TF St
(c) éaﬂara’ré’rﬂgeaaawéaﬁ

(d) HrEdt wesh ,
An increase in money supply would lead to

“(a) Interest rate to fall, investment to rise and aggregate demand to rise

(b) Interest rate to fall, investment to fall and aggregate demand to fall
(c) Interest rate to rise, investment to rise and aggregate demand to rise
(d) Interest rate to rise, investment to fall and aggregate demand to fall

-mwa”rfegwa%av

(a) %mrﬂeaﬁaa}ﬁ ﬁ@ﬂﬁawm%aawﬁaw
(b) TonmA T3 e it foem R it nR & Vo e
(c) form =3 R oo, fsdm &9 oo v g T 9 T
) forw a9 &9 oo, falm ST it R o var 9 it

The tough in business cycle occurs when

(a) Inflation is lowest

(b) Lowest money supply

(c) Aggregated economic activity is lowest

(d) Unemployment is lowest

g I39 79 HagHt @R I 7 -
(8) veTRSIST foBaaH @ (b) fs8aa3H weor yaft

(© IBneed faxfonr f6@a3nd - (d) Bgmerdt fslam 3

In the long run, increase in productmty would cause output to___ and aggregate price
level to '

(a) fall_ fall (b) fall, rise

(c) rise, fall ' (d) rise, rise

dow a1 &3, @wm%aw@mmﬁ‘g m%afh-ls'ﬁuaﬁa &9 ASeT O
(@ o, - ®) =, T

(©) =T, @t @ =, T
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10.

11.

Stagflation occurs when

(a) Price level increases and real GDP decreases

(b)  Price level decreases and real GDP increases

(c) Price level and real GDP decreases simultaneously
(d) Price level and real GDP increases simultaneously

8305 d<t o 7
(a) M3 09 Foer I M3 niAS GDP uizer
(b) oH3 Uug ufeer I w3 wiFG GDP Juet J
(c) oz Yug w3 miAS GDP f&d AR weR 75
(d) &tH3 Yud m3 »iA% GDP ffd AN F02 T8

In the long run, a reduct:on in labour supply could cause output to _ : and aggregated _

priceleadto

(a) rise, rise ~ (b) fall,rise - _

(c) fall, fall (d) rise, fall e

(a) <O, O (b) wreT, @ '

() wrer, urer , (@ T, wer

Keynesian aggregate supply curve takes which of the following. shape ?

(a) Vertical (b) Horizontal ,

(c) Both(@)and(b) ' (d) None of the above

Q&S IS YISt 29 33* fefanit 5 faaar wiarg 8er 3 ¢

(a) uget __ (b)) B :

(c) o< (a) 3 (b) o (d) Gudas agt mT

Money is neutral when the change in the money stock lead to change in

(a) Output (b) Pricelevel

(¢) Employment | (d) Interest rate

Hed fsauty 3 3 w2 yew Ada 9 ufeesss, f*‘enféauﬁeasaaa?%

(a) B3uTs o (b) &3 g ‘

(c) Trarg (@) fermTw |

The combination of wage-push by workers and government .commitment to hlgh |

employment lead to: - o

(a) Demand-pull inflation (b) Cost-push mﬂatlon .

(¢) Supply-side inflation (d) Supply-pull inflation . -
mé%mémmmﬂﬁwwmm%

(a) Ma-fig yeardtst . (b) TAB-UST HEgFEIST

(c) YIS HEIREIE g (@) yat-fie yeawdst

- Who amongst the following is regarded as the ‘father of macroeconomics ?

(a) Adam Smith (b) J.MKeynes

(¢) N.G.Mankiw (d) Schumpeter

Jot fafant &5 fam & “AHA nieRss o figrfsor Aier 37

@ ﬂwnmag; , (®) N AN, 5T

() »o.# Wesfar (d) wHies
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12. The reduction in investment with expansionary fiscal policy is known as

(a) Cyclical investment - (b) Crowding out
{c) Structural change (d) Deflation
ferf3z gwant 85t o fsdm fdo ot o 3 -
(a) TS faem . . (b) =I9 g FEr
(c) TII3B TTHN , d) rrcist
13. Cost-push inflation is due to ,
(a) exogenous event (b) shocks to aggregate demand

(c) shocks to aggregate supply (d) none of the above
Fra3-Uar Hedr AetST fon aras det 9

(a) oSt weset (b) IS K S v
(©) IByast g sex () Buda3 I I

14, Disinflation is

(a) Decrease in overall level of prices

(b) Income after indirect taxes

(c) Reduction in the rate at which prices are rising

(d) Reduction in GDP deflator
(a) P otHg Uug feg andt (b) M3y FT' I TR WTHES
(c) dtH3t 2 o0 & vq Ry wrer (d) GDP wex &g =it

15.  Which of the following is not a feature of demand for factors of production as compared to

commodities ?

(a) Itisderived demand. :

(b) Itis governed by marginal utility of the factor.

(c) It is joint or combined demand.

(d) Elasticity of demand for a factor of production will depend upon proportion of the
cost of the factor to the total cost of production. ' '

ot fafantt &9 oz ergntt @ wared §3ures @ Rust &8t ifar of felEsr &t 3

(2 feg fe83m ¥iar 3 | -

() feg 33 & Ahrs QuuiarsT onrar fawsfos &gt midt

() feodftaAgasHad

(d)- W%mw%émmé@m?mm%w%
fs989 agett | -

16. Choose the inappropriate assumption of the inarginal productivity theory :
‘ (a) Perfect competition in market for commodities and factors of production.
(b) Homogeneous factors of production. :
(c) Employer attempts to maximise sales and not profits.
(d) No factor unit is prepared to work at less than market remuneration.
AH'3 B3ureasT fals &F nEast s g8 _
(a) A3 F9 w3 B3ues AS' 2 s Y yIs yaras
(b) 83ues T AHgY AUE '
(c) E3ued foadt § niftieRH aTs T o e Y & fa &3
(d) I AU fearet g9 Hossd § ule '3 M ot a9et D |
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17.

18.

19.

20.

21.

Value of marginal physical product is defined as:
(a) Marginal revenue product multiplied by price.
(b) Marginal physical product multiplied by price
(c) Marginal physical product divided by price.
(d) ' Marginal revenue product divided by price.
A3 3f3d §3ue o H® ufgerfis oz mier 9

(a) HMH3 »ivEs B3ue g otHS

(b) A3 3f3x yeE aIET NS
() FM3 3f3x UeT9" F1aT atH3
(d) A3 ninEs B3ue 31 H3T

Demand for labour depends on

(a) Marginal revenue product of labour
(b) Average product of labour

(c) Cost of labour

(d) Marginal price of product

HAEdt BT Ha fo9s9 aaet 9 :

(a) Hwgdl € A3 ninies G3ure ‘3
(b) Rt € MRS B3ue ‘3

(c) HAgSt & BeR ‘3

(d) Gsue & AnE g ‘3

Exploitation of labour is said to arise when

(a) Wage=MRP (b) Wage <MRP

(¢} Wage>MRP (d) MRP=0
fomoimE s dur I

(a) HAgSt=MRP . (b) HAES <MRP

(c) HESt >MRP ‘ @ MRP=0

Slope of PPC drawn in case of two goods is equal to

(a) MRSxy o . (b) MRPTX,y

(c) MRTSxy " {(d) none of these

¥ eAgnlt ¥ Aey 99 93met gt PPC & g9'E 9vE9 3

(a) MRSxy (b) MRPTx,y

(¢) MRTSx,y @ feost &9 a=t &4t

World Economic Qutlook is released by whom

(a World bank (b) IMF

(© WTO (d BRICS

‘TIns feaahva nn@em fan gnrar Y3 oS Al 9
@@ fmi¥x - () IMF
() WTO (d BRICS
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23.

- (a)

(a) Creating employment and reducing poverty

(b)

22, What is the broad theme of Economic survey 2014-15 ?

Inclusive growth with sustainable development

(c) Creating opportunity and reducing vulnerablllty
(d) None of these
nigfEa A9RYE 2014-15 © fenf3s femm emg at 9 ¢

(b)
(c)
(d)

Make in India:
(a) Not by protecting but by Eliminate Negative Protectionism
(b) Not by protecting but by Eliminate Positive Protectionism
(c) By protecting but not by Ehmmate Negative Protectionism
(d) None of these
Ha fes fEghnr

(b)

gviard ©f 83Ut g9a w3 ot weBEr
fsd33 feam &% Afufss Yoist

nEAd Uer oda" nis maw@w
feast feg aet &t

(¢) Bftmr gnr 133 fae=R FIfanE @ wsH & a9

- (d) feow feg &St adt

(a) Wwwmmmsmaﬂa
aaﬁmmm’fuagmmaaﬁmwguanaa&

24, What is the percentage share of States in Central divisible pool recommendation by
14" finance commission ?
(a) 42 5 () 325
(9 @ 44
14%ﬁ3mémmmmmmhﬁawwq@ﬂgﬁméﬁ
(a) 425 (b) 325
. () 42 d 44
25. Horizontal devolution formula of 14™ finance commission: .
Variable | Population | Population| Fiscal Capacity/ | Area |Forest| - Fiscal.
(1971) [ (@o11). Income distance cover | discipline
Weights 17.5 10 ' - 151 75 -
accorded :
(a) 500 () 0,50
(c) 24,26 (d) 26.5,23.5
14" {3 niGia1 & Horizontal devolution T9HT 3
99 | venfunr | AsAfier fSt ey |asdes| Aam | et A
(1971) | (2011) nHes &g s
o
K3 @ 175 10 - 15 | 75 -
x
(@ 50,0 ®) 0,50
(© 2426 (d 265235
Paper-II (Economics) 6




26.

27.

28.

29.

30.

Which is the first Indian Agricultural Product to be accorded by Geographical Indication
(GIy?

 (a) Kerala’s Chengalikodan Banana (b) Darjeeling’s Tea

 (¢) Kerala’s Coconuts (d) West Bengal’s jute
ST mEHI(GI) DT YT'E3 ufowr Frast 8t B3ure faaar 3 ¢
(8) I T JAHATS A ) TSy & 9o
(€) IATH T IIT (@ Ut dos & uers
Which country will chair the 2016-BRICS summit?
(a) China (b} Russia
(¢) India (d) South-Africa
2016-BRICS F+at & yursat fxamr én a3
(@ d5 ®) gH
(c) I3 ‘ d) Ebra‘f »rea’*la*

To commemorate the International day of Yoga, the Reserve Bank of India (RBI) recently
announced to issue coins of which denominations ?

(@ T2 _ b T5

(© T10 (@ 2125

niEITTSSt G feeR HeE &, mmh%@ﬁﬁmm—w%ﬁaﬁ
IS oF WHE S5t I? .

@ 29w - ®) 5T

(&) 103U | . (d) 125 uE

Which scheme of Govemment of India (GOI) has been recogmzed by the Guinness Book
of World Records recently ?

(a) Direct benefit transfer of LPG

(b) Pradhan Mantri Jan Dhan Yojna

(c) Atal Mission for Rejuvenation and Urban Transformation

(d) Pradhan Mantri Awas Yojna
wﬁﬁamwa}ﬁaﬁmaﬁmﬁawmmmmm

3

(@ LPG Ry &8 IaEIt

(b) YU M3t 76 Us GHET

(¢) afon s w3 BT JuisTs SEt nigs fims
(d) YU HSS nRTH GReT

Which of the following is not correctly matched ?

(a) Silver revolution : Eggs - (b) Grey revolution : Fertilizers
(¢) Golden revolutidn : Gold @ " Brown revolution : Masaaley
ot ffamt R foam o Ft e &t der 9

() SRS | ) A g ; et
(c)_r_aaf‘aa’fqis?:ﬁw (@ S S

Paper-11 (Economics) : ' 7 | B



31 th is the author of this book ‘Planned Economy for India” ?

(a) Pt. Jawaharlal Nehru (b) M.N Roy
(c) M. Visvesyaryya (d) None of these
‘Planned Economy for India ' UyR3& &r ﬁlﬂ azd:
(a) Ufs3 7eraod & afag (b) .M. T2
C(¢) . ferRE=Shor . (d) feowt &5 a8t &t
32. The transformation curve is derived from the
(a) Utility possibility curve . {b) Consumption curve
(c) Production contract curve (d) Social welfare
JUISIB TaT FEET AR
(a) Butia Ages Ja9 3 o) GBI I
(¢ €3uvs Aggs T[T T d) MV Iz 3
33. In case of ‘Giffen goods’ a fall in price will lead to
(a) Increase in demand (b) Decrease in demand
(¢) No change in demand (d) None of these
fores uerget @ Ady 39, aHs 79 fooree a@qtt
(a) Yafeo (b) Ha &g ad

(9 i 3Rt ufseass adt @ feost fed St &
‘34, Revealed preference theory is based on

(a) Weak axiom (b) Strong axiom
(¢) Both(a)and (b) - (d) None of these
yaie 390 o fAuis muas 3 ;-
(a) YT qES ‘3 (b) HAE3 FES ‘3
(c) =< (a) "3 (b) : - @) feost &9 St &t
35. Who propounded ‘Diamond Water Paradox’?
(2) Marshall | (b) Adam smith
(¢} Jevons (d) Hicks
For-urat feduen & 3w famd ot /e |
(a) HIHB & b "SHAE3
(c) "e&ad - ) foam &

36.  The firm’s short run margmal cost curve is increasing when
(a) marginal product is mcreasmg (b) marginal product is decreasmg

(¢) total fixed cost is increasing d) _average fixed cost is decreasing

T9H & By TS AHZ B8 T9x 20 34T 9w

(a) mna@aweauﬁma . (b)) FHEE3uR e faord

() I AfEg o= g adt I (d) 9rZ Afte s We 33t 3
37. The slope of the total variable cost curve equals

(a) average variable cost (b) marginal cost

(c) average cost (d) marginal physical product

T UfseasaHs was w5y & e govEe O

(a) 3 ufgeasars B3 | (b) FHIE BEE

(c) PRI TEE ' (d) A3 3fsx @sue

Paper-11 (Economics) 8



38.

39.

40.

41.

42.

In perfect competitioq a firm maximizes profits on the long run by déciding
(a) What price to be charge ' (b) How much capital to use
{(¢) How much input to invest (d) None of these

Yds TR T fodl gan dew s ¥ fea 8nw 8 & &9 mifte 9t 3
(a) T IFIT () & Usit = yoior ager 3
(c) folat nmar3 o form q9&7 I @ fooot &9 a2t 53

The AR curve and industry demand curve are same

(a) in case of monopoly (b) in case of oligopoly

(c) in case of duopoly - (d) in case of perfect competition
AR To@ »f3 BTG HYY ¥XT FH'S TS -
(a) BTfuarg & . (b) n@utaas <o

(©) oniftas i () yIs HoEs e

In case of complimentary goods, Cross elasticity of demand will be
(a) Neggtive (b) Zero
(¢) Unitary (d) Infinite

| yIR TAPAT B ¥iaT < ot B9 d_et
(@) feE=@ ) TR

(¢) fearst _ d) B3

Income elasticity of demand will be zero when any given change in income brings
(a) less than proportionate change in its demanded.

(b) no change in demand at all.

(c) same proportionate change in demand.

(d) more than proportionate change in demand. :

M S mies BOR e Jeat A ninves e ot & ufseass fer@er d

() for 9 i 8 nigur3 &9 ule ufe=ass

(b) Ha feg a=t ufeeass &dt

(¢) Yiar &9 AN nigurs ufg=ass

() ¥ &g vigu3 &8 e ufe=dzs

For a pair substitute goods, if there is a change in price of on commodity (X), then other
things remaining constant, the change in the quantity demanded of commodity Y is relation
to commodity X will be ‘

. (a) in opposite direction.

(b) no change in demand of Y.

(¢) change will be in,thF same direction. A

(d) cannot be determined.
engnﬁ%ﬁaiﬁéaé},ﬁaaxaﬂgﬁaﬂmﬁau&m%j?%,mﬁaﬁ

dor 2 mrs gfoz 3 X aRg ¥ paEd Y g ©F Har & Wi 39 ufeeds dRar

(a) feusts fomr o '

(b) Y & a e ot ufseazs st

(¢) ufseass s fer RS d_ar

(@) foIugs &dt &3 A AET

Paper-11 (Economics) _ 9 ' B




43. 'When income elasticity of demand is greater than unity, then the commodity is

(@ A luxury commodity (b) A non-related good NE
(c) A necessity (d) An inferior good

7 Har & nies $9 feardt 3 Fu Y 3F eng:

(@ Raferzrazd @) Rxdediuerzd

(c) feawgasd d) FFuwdmrerg

44. Demand curve of a normal commodity falls downward because

L
L

IIL
S IV.

Real income of consumer increases.

Consumer substitutes dearer commodity with cheap commodity.

Law of diminishing marginal utility operates. ‘

It is easy to use downward sloping demand curve for analysis and prediction.

Which of the statement given above the correct ?

(a)
(c)

L
IL

IIIL.
v,

(@

LI IV | b IV
LI, III : (d) All of the above

AUS5 2R3 o oW ot 3% St I, alfx
U T niAs ninTs et D
@mnﬁaﬂm@mﬁmmmma
ulet A3 Butierr & fson &1 Jer 3
ﬁﬂ%ﬂz»@%ﬁ@&&éﬁ@%ﬁeﬁwm@wwa
LILIV G 0L Iv
L 1L, 111 (@ Guda=z A

(c)

45. The main purpose of proposing HDI was:

A. To assess the ‘economic growth with main focus on per caplta income and human
capital.

B. To empha312e that people and their capabilities should be the ultimate criteria for
assessing the development of a country.

C.  To differentiate between the development perspective regarding national policy of
particular country.

(a) Both A and B are correct (b) Both B and C are correct

(c) Only B is correct ' (d) All of the above

HDI &t 37319 96 o Wy 895 &t .

A. @-MWWMW%MMWWMWMW

B. mmhﬁa#%m?mmwmm@@wwmm
HUESS &t ardfidhnr o '

C. ﬁa%ﬁn%mﬁmﬁﬁﬁ%ﬁéuﬁeﬁmﬁméﬁ#ﬁmﬁmm

(@) SRAMIBRA T ® TEBmMICAATS
- (¢) fAeEe BRI @ €Gudas A

" Paper-II (Economics) ' 10 ‘ B




46. Match the List I against List IT and select the correct codes given below:

List 1 ) List I
A. Vicious Circle of Poverty 1.~ Raul Prebisch
B. Saving Function 2. Nurkse
C. Development and Underdevelopment 3.  Kalecki ,
D. Dependency Theory 4,  Robort Harrison Frank
(a) A-1,B-4,C-1,D-3 _ (b) A-2,B-3,C-1,D4
(¢) A-2,B-3,C4,D-1 (d) A-4,B-2,C-3,D-1
Fet 1 gt 11 &% fiae a9 »i3 o7 &3 ast o8 Adt g2
get 1 | - gRn
A. Jd@Serdeag 1. 8w fEm
B. T3 T®»6 2. &I
C. feoA w3 niwy feam 3. afset '
D. fsozesr U3 | 4. I ¥dRs ¥
(a) A-1,B-4,C-1,D-3 ) A-2,B-3,C-1,D-4
(¢) A-2,B-3,C-4,D-1 . (d) A-4,B-2,C3,D-1
47. Match the List I against List II and select the correct codes given below:
List 1 _ ' List IT
A. Indicative Planning 1.  Planning by direction
B. Totalitarian Planning 2.  Planning by inducement -
C. Decentralised Planning 3. Planning from gross roots
D. Democratic Planning 4,  Planning by flexibility
(a) A-4,B-1,C-3,D-2 - (b) A-2,B-1,C-3,D4
(¢) A-2,B-1,C-4,D-3 (d A-4,B-3,C-2,D-1
Hﬁl?nﬁllmﬁmaa»@aa%%azﬁﬁémﬁaz
get I R -1 LU
A fzatmedd 0000 1. ferr oo GearEe
B. niftaelys Grsyer 2. UJsr onrgr wdsTEel
c. foaedfgs omedd®t 3. WOAOGS 3 GReEel
D. Badd Grerddt 4. HOAT DT GreTEl
(a A-4,B-1,C-3,D-2 (b) A-2,B-1,C-3,D-4
(¢) A-2,B-1,C4,D-3 (d) A-4,B-3,C-2,D-1
48. How much of land area in Punjab is recorded under forests ?
@@ 6.07 ‘ (b) 85
() 100 | @@ 154
Urre 9 o ot aaa Hawst nidtes faaras oi3r famr 9
(a) 6.07 () 85
(© 100 (d 154
Paper-I1 (Economics) 11
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49.

50.

51.

52.

According to 2011 Census, which district of Punjab has got the highest literacy rété

(a) Ludhiana (b) SAS Nagar

(c) Hoshiarpur (d) Jalandhar

2011 F&AEET nigA UArg @ faos @ < AnggsT oo Gasn 3
(a) SBfmprar (b) A 2. AW 5@
(0 dfimraus (@) =Sug

According to the All-India Debt and Investment Survey and NSSO, non-institutional
sources still provide finance to how much percentage of rural population of Punjab ?

(@ 219 (b) 29.7

(c) 368 (d 30.6

A< 35t fox »i3 f&3m ASRYE w3 ‘WA @ wisAW, A9 AR AN OB 3% < daw @
foiat ySias U'g Aerfinr § fog uddr a9 a57

(a 219 (b) 297

(c) 3638 d) 306

Prionity sector lending by banks include which of the following sectors ?
1.  Agriculture 2. Education.

3. Micro and small Enterprises 4.  Housing
(@ 1,2,3and 4 (b) 1,2 and 3 only

(¢) 1,3 and4only (d) 2,3 and4only ‘
Wmumﬁwm%ﬁaﬁaﬁﬁw&?ﬁa%aﬁmaﬁ
1. ustgst 2. fHfpr

3. o3& 8en 4., ™<TH

@ 1,2,3n34 b = 1,233

() I 1,3m34 _ d) fAI= 2,3n34

For an under developed country:

A.  There is a high degree of correlation between the level of income and the rate of
population growth.

B.  There is low propens1ty to direct additional per capita income to increase per caplta
investment.

C.  There is scarcity of uncultivated land. '

D.  There are different production methods and absence of technologlcal development.

Given above statements choose correct answer below:

(a) A, Band C are correct (b) B, Cand D are correct
(¢) A, Cand D are correct (d) All of the above
e miwy feafins @n =&

A. m%mm@m&wﬁﬁwe&fw&a@amnﬁrﬁéﬂw%
B. quﬁ@aﬁmz@qﬁﬁmﬁﬁ@nﬁqﬁaﬁuﬁ%

C. 9-3F ot &t gz D

D. f%%a@aq@aﬁﬁiwaﬁméaaﬁéfﬁwérmaﬁ?%

Bus &3 qu feo" Ist At B39 S Je aF B
@ ABM3CHItTs () B,C,m3DAJET
© AC,»3DARNT (d Gz AT
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53.

85,

56.

57.

In Indifference Curves Approach, The consumer is in equilibrium when

(@ MRS, =P,/P, (b) MRS,,=P,/P,
(c) MRS, ,=P,/P; (d) Any of the above
Bots Ta9 uge &9, QI Agss fRe Jur I me :

(@) MRS, =P,P, (b) MRS, =P,/P,
() MRS,,=Py/P, (@) Gudaz azt

When total productivity of a function is maximum then
(a) Marginal productivity is increasing
(b) Marginal productivity is decreasing

-(c) Marginal productivity is zero

(d) Marginal productivity is negative
o ¥ 2ms < a5 83ureas mifta3w 9, feg
(a) 3 B3ueas Ut 3 (b) FHZ B3uresT e It ©

(¢) FHi3 B3uwas fiea (@) FHi3 B3ueEs faaskx ¢
In Cobb-Douglas production ﬁmchon elasticity of substitution is:
(a) Equal to Unity (b) =>1
© <1 @) <Zero
' AH-BIWBR Q3ures eFs 199, yIHEE 39 9
' (a) fEorste goEe ®) >1
(¢ <1 @ <fires
Shutdown point in perfect competition in short period occurs at
(a) Minimum point of SAC (b) Minimum point of SAVC
(c) Minimum point of SATC (d) Minimum point of AFC
Y& s ¥ mw o e e d= o fig @3ds Jer 9
(a) SAC ® fsBsan fig 3 . ® smc%ﬁs@mﬁg‘%
(c) SATC @ fs@azu fiy ‘3 (d) AFC ® fs@a3n fiiy ‘3
Equilibrium of profit maximizing monopolist occurs where:
(a) ED>I : (b) ED<I
(c) ED=1 (d) ED<zero
) w»rﬁmme@éaﬁwﬁvm@mw%ﬁﬁ
(a) ED>I1 (b) ED<I
(c). ED=1 ' (d ED<frew
Under Cournot’s Duopoly model; equilibrium output is (where n = number of firms):
(@ n/n+l ) n/n+2
(c) n/nt+3 (d) n/nt4
A952 T Siftardt s nidts, H3ss §3ue ¥ (il n = ganr & #fimrd) ©
(a) n/ntl ' (b) n/nt+2
(© nnt3 : (d) wn+d
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59. General equilibrium approach is given by : : 3

(a) Pareto (b) Walras wy
(¢) Leonteif ~ (d) Allofthese , I
(8) IS P () TTIA P 5
(c) ToBafee onrar ) feast Frionit oorgr '
60. Thereis no unique supply curve in this market; is the statement which refers to
(@) Perfect competition (b) Monopolistic competmon ‘
(c) Monopoly (d) Oligopoly -
fer sAra 9 ot feduz Yot <am &t dat 3; foo ams Adus D
(a) YJE HIEB 576 ) Efuarst yfsafasT &
(© Faag &% | ) nEufoas s
61. ‘Pure Oligopoly’ is the market where a few firms produce
‘ (a) close substitute goods ~ (b) differentiated products
(c) identical products (d) Any of these
mm’%maﬁammmmm
(a) foae yfsrans At o) 135 zrgnit
(¢) G fadntt Tt @ et fRREESRH
62. ' The point of maximum soc1a1 welfare on the grand Utility Possibility Frontler is called:
(a) Shut down point (b) - Break-even point __
(c) Pointof mﬂexlon (d) Bliss point
ButiosT Rgremr TImiT 83 niftiesH M e e fig go@er %
(a) ¥e J= v fig (b) A3ws g
© feoatfie @ fewefig
63. Voluntary Exchange Benefit Approach was given by
(2) Samuelson _ (b) Bowen
(¢) Erik Lindahl (d J1.S.Mill
fega e2iver &9 uge fodt at /it '
(@) PAfigers e () SETaw
(e) nifo fBzom o (@) A, TS oo

64. Vertical Equity means
(a) Persons in similar circumstances should be treated similarly. .
(b) Persons in dis-similar cu'cmnstances should be treated dis-similarly. .
(c) Both of these .
(d) None of these
U AHTS3T T ngE
(8 PHGU TT3T TS B & ANGY feeard T It J
(b) WY TSt el Bat 5 9 feeag I iUk
(c) foo &
(d) feast 9 It &4t
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' 65-

- 70.

The more inelastic the supply of taxed goods, is the incidence on buyers.
(a) greater . (b) smaller _ : :
(¢) zero (d) whole
g vt 2R3 & nifte 3Fvar Yo, wdteaet €3 39
(a) . mftat ) ue
(0 frew - (d AT
66. Regulation of consumer’s credit as an instrument of credit control was ﬁrst tned in
- (a) USA (b) UK :
(c) France (d) India |
mﬁsmm%féaﬂ?eﬁ&me?m?ﬁumuﬁmﬂmwmﬁwﬁ
(a) Nt : () ga. o o
() TR @ I
67. Charles Tibeout in his model observed that many types of public goods are
(a) Local ' (b) Pure
(c) Club (d) None of these
maﬁ@z%@n@mﬁaﬁr«%ﬁzé}?ﬁﬁmﬁahﬂwwwmm
(a) o3 1 - () Hu
(©) TEmf o (@) foost fog agt &t
68. Wagner’s “law of ever increasing state activity” was given by Adolph Wagner in -
(a) 1850 : . (b) 1983 ' .
(c) 1883 (dy 1838
%am?“whﬁméﬁmsaeﬂ@ﬁmn mam%amwﬁarﬁmﬁr
(a) 1850 f&9 () 1983 f<®
(© 1883fF - - (d) 1838 fFW™
69. ‘Full Employment’ is a situation characterized by absence of
(a) Voluntary unemployment - (b) Involuntary unemployment
(c) Unemployment _ : (d) Seasonal unemployment
Y35 Srarg fen & wizd'e ovrar SIRret ot Afast 3 '
(a) fw ﬁaﬂ?ﬂ'ﬂ"r o (b) wEiga dgrardt
() Egmarst (@ TR agEerdt
‘Real wage’ can be defined as
() Money wage/general price level
(b) Money wage minus general price level
(c) Money wage at the base year
(d) Money wage inflation
“niFms HAES'S ufesEs i3 7 RET O ¢
. (a) Trefoet Hﬂ?-.'a'flaﬁﬂa' dag
) refoa HFI'gB'T ue® AOgs StHsuT
(¢) »ue AS ‘3 Hefex wrgdt
(d) Fefax HAgdt Hear FetST
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71.  Various versions of ‘Quantity Theory of Money’ try to examine i
(a) Quantity of money and general level of prices A
(b) . Quantum of money in Circulation .
(c) Inflation in the Economy
(d) Money and Bond Market - N
- ‘Hed ¢ ufowrE fafs” ¢ fefds Anaast & foret i a9s o afim o=t 3
(@) HET T uforrs m3 W3 T AOes dug *
(b) B EY yETr T Hiser :
(©) 99 feerw f&9 yeamelst
(d) HET K3 915 FT9

72. Money multiplier depénds upon

(a) Reserve-deposit ratio (b) Currency-deposit ratio
{¢) Monetary base (d) All of the above
T I 65359 aaer § _
(8) F5I-Aff T3 (b) -yt i
. (c) Wefe nug (@) QW= AY
-73. In Keynesian demand for money model, ‘Bulls’ are speculators that expect
" (a) Bond price to ‘fall’ : (b) Bond price to ‘rise’
c) Moves out of bonds to cash _(d) none of the above
3 2 yegr & Har Hss 9 ‘I8 My 98 W o J9e 95

(a) o3 U3t T wes & (b) =3 dtHzt @ Tuz <t
(¢) #75F 33\ IB R T5 (@ Budas agt &t

74. In Keynesian approach, demand for money is an
(a) increasing function of income only. : _ :
(b) increasing function of income and decreasing function of rate of interest.
(c) increasing function of rate of interest and decreasing function of income.
gd) increasing function of income and rate of interest.
_ Ude 199, Her & Har
(a) winEs T o TueT @56 9 _
(b) PHES T 4T &8s »iS fenm O w9t T ulee EBs O
(c) fonm & 9 or Fger 255 S ninEs o UleeT %5 O
@ »Esm3 oA d@tese ueess I

75. Absolute income hypothesis predicts
(a) decline in the marginal propensity to consume when families move to higher income

level.

(b) incr?ase in average propensity to consume when families move to higher income
level. : : _

(c) decline in average propensity to consume when families move to higher income
level.

(d) increase in the marginal propensity to consume when families move to higher

. income level. : _
f&3% minies TR Yoo yndt amer 3

@ 7 ufgers 89 nmies U 3 ugeR on 3t A Quda yfeadt ffe ot
(b) 7 ufeers G ninves U9 3 udeR I6 3 wiRs Qusar yfeast g oor
() < ufgerg €9 e Uae ‘3 udee 95 3t Nins Quda yfeast 29 ot
(d) 7 ufserg €9 nmies Yug 3 udeR Ts 3t W3 Guda yieedt flg o
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76.

71.

78.

79.

80.

81.

‘Imitative’ and ‘Emulative’ nature of consumption is associated with
(a) Absolute income hypothesis - (b) Relative income hypothesis

() Permanent income hypothms (d) None of the above
Quia & ‘gFBA” w3 ‘dtn xds’ S yfesdt Adu3 I

(a) foom niies U3 &8 (b)- Hraumleafimiam
(¢) FAEEt s O3 &8 - (d) Budus =t &t
According to Kaldor’s Business cycle, investment is directly related to
(a) Income : (b) Rate of interest

(¢) Stock of capital . _ (d)  None of the above S
FWIT T 2UT TI nigAd 63w o Yy AT 9

(a) MHTS & - () fonr & °9 5%

(©) Ut A & @) Sudaz aEt &It

The book titled ‘A Contribution to the Theory of Trade Cycles’ published in 1950 is
written by

(a) Hicks (b) Samuelson ' -
(¢) Kaldor S - (d) Schumpeter :
‘A Contribution to the Theory of Trade Cycles’, 1950 a3y & uFsx ﬁm:’r? st Fﬂ‘

(a) foom emmar ‘ ) Rfi@srs oarar

(c) TE3I g (d) Tj'!-ﬂ'c’a AT

The Monetary policy will be ineffective with the increase in money supply, when

(a) IS curve is horizontal ' (b) IS curve is vertical

(c) LM is vertical (d) noneof above

Yefex it e & yast Lf%*e T 5B niygerEE I, 7

(@) IS wax Bty (b) IS TWIUIH Y

© LM d) Budss et At

LM curve is steep when

(a) Interest elasticity of money demand is low
(b) Interest elasticity of money demand is high
(¢) Income tax increases
(d) Income tax decreases

LM =59 &t goE it & 9 =e
(@ HeT A formsERuWcd () mm@@mm@q%
©) WS & TR Y (d) nmaaawaera

Factors that shift the IS curve to the nght are

(@) decrease in taxes and government spending

(b) increase in taxes and govt. spending

(c) increase in govt. spending and decrease in tax
(d) decrease in govt. spending and increase in taxes

F9a 1193 T IS <& § AR UTR U3e T5
(a) o9 o3 Ao @ yew R @t
(b) FI* v AIET @ U9 Rg o
(© FIXd 2 yog e our i3 aet e anft
(d) FIa 2 u9w R e n3 ot R =
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82. :
(a) High MPC | () Low MPCc e
(¢) High MPI (d LowMPS ;
(@ BTMPC# (b) ulg MPCc 5%
(c) SIMPI&® (d) ulzg MPS &%

83. Expansnonary Fiscal policy will be more effective on income when given the IS schedule
(a) LM schedule is relatively flat (b) LM schedule is relatively steep
(¢) LM curveis vertical . (d) None of the above '
ferfys et 213t nnves 83 =09 ygemdt et @ IS Fet @ verad
(@ LM 5t SS53H AHES § () LM 5t 35eava it Y
() LM W@y 9 (@) SudE3 at &t

84. The establishment of GATT resulted in:
(a) Increased tariff rates ' (b) - Decreased in total world trade
(¢) Increased protectionism -  (d) Lower tariff rates
GATT &t rarusr & a3tar faafenr /it
(a) <O 2fgg Tai ®) & feme aug g adt
(c) =<fanr sfpree @ uzfwest

85. Whohas been appointed the first vice chamnan of the newly created Nthayog

~ (a) Kaushik Basu (b) Arvind Panagariya

(c) Abhijit Banerjee (d) Bibek Debroy
a%a%zﬂétnmauﬁw@u—%wﬂamwfewﬁw%
() <z &g - (b) »RféT yarshor
© mﬁiﬂz %aaﬁr (@) fa3 2udw

86. According to C.S.0 estimates of National Product, Secondary Sector mclude Wthh of the

- following sub-sectors: ' _ _ _

(a) Manufacturing Sector
(b) Manufacturing + Construction
(¢) Manufacturing + Construction +Electricity + Gas and Water Supply
(d) Manufacturing + Mining
THSS @3ue 2 C.8.0. "EHS. nigHTg, ﬁzﬁmﬁaﬁaﬁ%ﬁvﬁw@u—ﬁ'ﬁ
e Jer 3 -
(a) fooz 839
) fsorz + rrdt
(© m+€n@+ﬁﬂﬁ+aﬂn@muﬁ
(d) ST + wEtfsar

Multiplier will be lower with
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87.

Demographic Dividend in India is defined as: Ty P
(a)  All Adult Population . - ' T
(b) Population excluding old people

(c) Population excluding children and old people

(d) Population which excludes unemployed persons
I3 ¥ 75 niad feswis & ufgerfos disr aler ¥

-(a) ATST ST AGHTENT

éﬂaarwaﬁa%naﬁf‘am
(c) mmﬁvﬁﬁwﬁmmamﬂaﬁm t
(d) mﬁ:wﬁnﬁvﬁamwaaﬁwwa o '

Development expendlture of the Central Govenunent does not mclude
(@) Defence Expenditure

(b) Expenditure on public services

(c) Expenditure on social and community services

(d) Grant to States L Co e !
(a) ﬁaﬁ:wuaa S ) ﬂmﬁ@? %uaa

(0 FHR NS TP ARt ‘3 udg (d) I g et RO
Gross domestic capital formation is defined as e

(a) Flow of expenditure devoted to increase or maintaining of capltal stock

(b) Expenditure in on physical assets only

(¢) Production exceedingdemand . T e
(d) Net addition to stock after deprecation

5 uwdG Uit foonz & ufass o= AT J

(@) uﬁmawéiméméusaﬁmvm

®) fFIEE e Audhot 3 o LEE]

() ¥ T =y G3uws

(d) ﬁsm@gmmﬁaﬁuw

Our financial system has prowded for the transfer of resources from the centre to the
states; the important means of resource transfer are: . R
(a) Tax sharing o (b) Grants-in-aids

' (c) Loans : (d) All of these

q?wﬁ%a?a?afﬁfesnﬁwéaeﬁmaﬁ?r% Frﬁmrrétaev?r%
Haaeuazsm:raaa

(a) FIEBE _' ® T
@ fe& ‘ @ fe w%
91. Which of the following isinot viewed as a National debt ?
(a) Provident Fund (b) Life Insurance Pohcy _
(c) National Saving certificates (d) Long-term Govemment Bonds
ot fi¥fan o fan § IHed faz T 39 3 &I M A :
@ yddT () s i uwdt
(c) THS 7U3 yH'E U39 (d) éawa@méfa's .
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92.

. 930

94.

- 95,

If an economy is in equilibrium at the point where plan to save and to invest are equal; then
government expenditure must be: : .

(a) Zero (b) Equal to government income

() Larger than govemment income (d) Negative S

wod R nigafeerer 8r iy ‘3 Ages %9 3 F1Y 993 »3 fkE & s s 98,
RIS Yaw Age 93 gdter I

(@ fAeg (b) FIAG niHEs T FIET

(¢) FAIAC MTHES 58 29 d) foF=na

Devaluation of currency will be more beneficial if
(a) Prices of domestic goods remain constant
(b) Prices of exports remain constant

(c) Prices of imports remain constant

(d) Prices of exports rise proportionately

HET T niRYBE gievlie 32ar 3a9:

(8) uwJH A3 Tt SthizT Aflrg SfTort o

" (b) fsowrst Snit izt Aftg afddnr o5

(¢) a3t It Sftvzr Afag afdsht on

(d) 5363t Soit ST wigurss Soeinit U

Fiscal deficit in the Union budget means

(a) The difference between current expenditure and current revenues,

(b) Net increase in Union government’s borrowings from the RBL _
() The sum of budgetary deficit and net increase in internal & external borrowings.
(d) The sum of monetised deficit and the budgetary deficit.

e g fet w2 T ngm 3 S

(a) TF HIY I T MHES (¥9 nizg

(b) d'est Rex9 € RBI &% 8us f¥g o e

() oW wre 3 viegat m3 wradt Guret f¥9 Ju ot v m

(d) =7 we w3 Hefog we e iz

Assertion (A) : Agriculture is no longer the gamble of the monsoons.
Reason (R) : There is recent expansion of dry farming in-India

(a) Both (A) and (R) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(¢} (A)istrue, but (R) is false

(d) (A)is false, but (R) is true

a6 (A) : BT g= WS © gor adt adt

I35 (R) : 993 ¥9 nive® yria Bt o femgrg

(a € (A)n3 (R) 31 T6 »13 (R), (A) & AR fenrfimr 3

(b) = (A) "3 (R) 8 05 3 (R), (A) T 7R fenrfionr & D

(©) (AJIFI W R)THI I

@ A)IBII, WER Fad
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96. The Economic cost of food grains to FCI include the following :
1. MSPincludingcentralbonus = 2.  Procurement incidentals

3.  Cost of distribution: 4. Food grain losses
(@ 1,2and3 ® 1,2and4
() 1,2,3&4 (d) 2,3&4only
FCI § ug-nizt & mirdfaa sars &9 9ot fo2 wfvs 08
1. TR 558 57 MSP 2. nEE93 YISt
3. EFWA s 4, nEH T FANS
(@ 1,2733 ®) 1,2n34
© 1,2,3n34 d) =W 2,3n34
97. India’s ‘Green Actions’ does not include
(a) Cutin subsidies : (b) Increased taxes on fossil fuels
(c) Increase in petrol and diesel prices (d) De-urbanising the economy
93 ¥ ‘Green Actions’ &9 wfi® &dt° Je '
(a) mAE feg acdt (b) vgge g @3 TW a9

¢ Wosmitmsdhsiffeew (4 nroufezre o d9-niodass
98. Statistics is defined as the aggregate of facts affected by

(a) One particular cause (b) Two causes only

(¢) Multiplicity of causes (d) Not affected at all

riftmet 3 for gnar Yz Jat @ WF @ 39 *3 ufesEs off3T famir 3

(a) o= feRmaras ) fi9e e T9s

(c) II3 AS TS (@) Foas @z adtd
99, Statistics is | - '

(a) Anartonly (b) Artand Science

(c) Science only (d) neither Art nor Science

Fiftmilt 3 |

(@) frge s (b) & n3 fefarrs

(¢) frge fefamrs (@) & T i3 & fefomrs
100. __is a suitable method of collecting data in cases where the informants are literate

and spread over a vast area.
(a) Mailed Questionnaire Method
(b) Direct Personal Interview Method
- (¢) Indirect Oral Interview Method
(d) - Information Received through Local Agencies
fedt 3 . :
(@) & It 3 et yEaFer fedt
) Y3 fonierdtas Arm=ars fedt
(©) Y3y Fifte AEzeng fedt
(d) FEEE SRt It Yrus AEdt
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